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g 1 a. Briefly discuss the advantagesgo%%gﬁsing the DBMS. (10 Marks)
= b. With neat diagram, explain three-Schema Architecture. (06 Marks)
b c. What are the responsibilitieé of Database Administrators? (04 Marks)

& )
2 a. List the summary of n %ﬁéns used for ER diagrams. Include symbols used in ER diagrams

and their meanings. . (10 Marks)
b. Write an ER diagram for Banking System.. Assume your own entities (minimum entities)
attributes and relations. Mention Cardinality ratio. (10 Marks)

3 a. Consider th@ following schema for a CQrﬁgény database :
Employee, (Name , SSN, Address, Sex, Salary, D.No) ..
Department (Dname, Dnumber;‘“Mg’jR_SSN , MGR_ST/

Dept_Locations (Dnumber, Dlocations)
Project (Pname, Pnumber, Plocation, Dnum) ¢
Works_on (ESSN , PNo;Hours)
Dependent (ESSN, Dependent_name, Sex, I
Write the Queries in Relational Algebra o : .

t _Relationship)

i) List the names of Managers who hav&e\ﬁab?leéls.t one depepd%t:’“’

i) Find the ngﬁi‘e%b‘f the Employees‘who:work on all Proﬁgﬁts%ontrolled by dept_number 6
iii) Retrieve the name and address;of all Employees who work for the Research department.

iv) Retrieve the names of Empg%ye@s;Who have no dependents. (12 Marks)
b. Discuss the following relational algebra operations. Mlustrate with an example :
SEL}EC "> UNION , DIFFERENCE , INTERSECTION. (08 Marks)

4 a. Explain all possible options that can be specified when a referential integrity is violated
{_using suitable example/for all options. { (08 Marks)
wing relation for Company data base :

SN, Salary 3j?§up“é°r_SSN , DNo)

, Mgr_SSN)
(DNum, Dlocations)

Dependent (ESSN , Dep Name, Sex)

Write queries in SQL for the following :

i) Retrieve the name:of each Employee who works on all the projects controlled by
department number 9.

ii) List the names.of Manager who have atleast one dependent.

iii) Each depa”frgtm‘”'%nt that has more than five Employees retrieve the department_number
and the q}ifﬁber of its Employees who are making more than Rs 40,000. (12 Marks)
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Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Discuss the significance of an assertion. Write an assertlon to specify a constraint such that
the salary of an Employee must not be greai‘ “than the salary of the Manager of the
department that the Employee works for in SQL ) (08 Marks)
Explain DROP and DELETE command W"ith ah example. Gy (06 Marks)
Create a view which will display the department name, number of em loyees working and
total salary for each department. . o (06 Marks)
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What is the need for normallzaggiongv Explain the first, secgﬂd and third normal forms with

example ) (10 Marks)
What is a Functional Depe‘hd“ en y? Write an algorlthm to fmd a minimal cover for a set of
functional dependenc1es . (10 Marks)

& (10 Marks)

““‘*‘UWMantages CMRIT LIBRARY  (10Marks)
RANGALORE - 560 037
Explain the problems that can occur v%?hen concurrent transactions are executed. Give

examples - -~ (10 Marks)
What is a'Schedule? Explam wﬂf xamples, Serial , Non- Serial and Conflict Serializable
Schedules. ’ (10 Marks)
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